\ol.

il

f

1987

80

20

30

20



500

women

50

business

200 300
90

200
2000 3000

89
300
15

89

2000



10

Women * s Gateway
200 300

96
1999

12 13

530
1200

96



\Vol.18

2000
2000

(wl

88

99



\Vol.18

12

JAL

100 200



\Vol.18

fit

4000



2100

Women = s
Gateway 96

98 99



\Vol.18

Google

10

L]

I statement

11



100 100

You should
If 1 were you, | would

OK



\Vol.18

4000

10



\Vol.18

(]

4000

12

15

11

230



\Vol.18

12



\Vol.18

500

one of them

120

13



\Vol.18

2007 3 20

14



1983

1987
(www._unicul._com) 70
2000 3
(www.ewoman.co. jp) 9
6
( )
1996

(www.women.co. jp/conf/)

TBS




